Test Three 

Test Three 


Q SCI 381                                          

  



         Dr. Bare

Name:        ________________________



 

          

Hourly Examination Three   

Closed book. May use calculator and formula card (sheets). Show all work for full credit. This means show which text book formula is used; plug in a few representative data points to demonstrate that you know how to use the formula; provide the correct numerical answer. Providing only a calculator input stream will not earn full credit.

(100 points)

(14) 1. The yield/acre of Washington winter wheat is normally distributed with a mean of 110 bushels and a standard deviation of 16 bushels. 

a) What is the probability that a randomly selected acre of wheat will lie between 82 and 138 bushels?

b) Between what two wheat yields will 90% of all wheat yields fall?

(12) 2. A random sample of 16 people reveals that blood pressure readings are normally distributed with a mean of 120 and a standard deviation of 8. 

a) Calculate the maximum error of estimate for the mean blood pressure at the 95% level of confidence.

b) Construct a 95% confidence interval for the mean blood pressure.

c) State in words what this CI means. 

(10) 3. The average number of pounds of red meat consumed by Americans is 196 lbs/year with a standard deviation of 22 lbs. What is the probability that the mean of a random sample of 44 Americans is greater than 215 lbs?

(20) 4. At a recent statistics conference, 600 statistics instructors were present. Forty-nine were randomly selected (without replacement) and given an IQ test. The scores produced a mean IQ of 125 with a standard deviation of 10. Find a 90% confidence interval for the mean of the 600 instructors.

a) Is it necessary to use the finite population correction factor in calculating the standard error of the estimate? Why?

b) In determining the confidence interval will you use the t or the z-distribution? Why? 

c) Determine the 90% confidence interval for the mean.

d) Provide a one sentence interpretation of what the CI means in words.

(15) 5. Based upon a random sample of 15 tropical countries, an average of 15 million hectares per year are deforested. The sample standard deviation is 6 million hectares. The number of hectares deforested annually is normally distributed. Use these sample statistics to establish a 90% confidence interval for the true value of (. 

(20) 6. Forty-five percent of all streams in King County have the potential to contain fish. A random selection of 50 streams is taken. What is the probability that at least 30 streams have the potential to contain fish? If it applies, use the binomial approximation to solve this problem.

(9) 7.  You wish to conduct a random sample such that you are 90% confident that the mean weight of crows found in the Mountlake neighborhood possess a maximum error of estimate of 0.25 lbs. How many crows must you sample if the standard deviation of Mountlake crows is 1 lb? (Note: Assume a large sample will be required.)





